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1. Show that the points (-2,3,5), (1,2,3) and

(7,0,-1) are collinear.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Ju5ra0V3sHny

° Watch Video Solution

2. Name the octants in which the following
point lie:

A(2,3/4),
B(5,-3,3),C(2,-1,-6),D(2,2,-3),E(-1,3,-6),F(-1,3,3),G(-3,-2,5)

and H(-1,-2,5).

° Watch Video Solution



https://dl.doubtnut.com/l/_Ju5ra0V3sHny
https://dl.doubtnut.com/l/_HaveWRbqrRPn

3. Find the distance between the following
pairs of points:

(6,-1,5) and (-2,1,3)

o Watch Video Solution

4. Find the distance between the following
pairs of points

(-1, 3,-4),(1,-3, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_fZ7RvrTVHxfR
https://dl.doubtnut.com/l/_mSNnbjZeI48t
https://dl.doubtnut.com/l/_X4uneUVmvLLC

5. Find the value of x, so that the point (6,5,-3)
is at a distance of 13 units from the point

(x,-7,0).

o Watch Video Solution

6. Find the coordinates of a point on the z-axis
which is equidistant from point A(3,2,1) and

B(5,2,5).

o Watch Video Solution



https://dl.doubtnut.com/l/_X4uneUVmvLLC
https://dl.doubtnut.com/l/_PfW2yCBQ9m3L
https://dl.doubtnut.com/l/_NU64LCuYHS29

7. Find the points on x-axis which are at a

distance of /29 units from point A(1,2,3).

° Watch Video Solution

8. If A and B be the points (3,4,5) and (-1,3,7)
respectively, find the equation of the set of
point P such that PA? + PB? = k?, where k

Is constant.

o Watch Video Solution



https://dl.doubtnut.com/l/_NU64LCuYHS29
https://dl.doubtnut.com/l/_a99H7WpezlbG

9. Show that if z° + y® = 1, then the point

(:I:,y, \/1 —z? - y2) is at a distance of 1

unit from the origin.

° Watch Video Solution

10. Find the coordinates of the centroid of a
triangle the mid points of whose sides are

(1’2’-3)9 (3’091) and (-191’-4)

° Watch Video Solution



https://dl.doubtnut.com/l/_8yY8ihtzLfMs
https://dl.doubtnut.com/l/_5xQA2jAOevdA
https://dl.doubtnut.com/l/_M5IYlFgccbb5

11. Find the ratio in which the line joining the
points (4,8,10) and (6,10,-8) is divided by YzZ-

plane.

° Watch Video Solution

12. Given that P(3,2,-4), Q(5,4,-6) and R(9,8,-10)
are collinear. Find the ratio in which Q divides

PR.

° Watch Video Solution



https://dl.doubtnut.com/l/_M5IYlFgccbb5
https://dl.doubtnut.com/l/_0BdgJhX5r9XP
https://dl.doubtnut.com/l/_eID03YpBBpRP

13. Using section formula, prove that the three
points (-4,6,10), (2,4,6) and (14,0,-20) are
collinear.

Also find the ratio in which point B divides the

join of Aand C.

° Watch Video Solution

14. Find the coordinates of the points which
trisect the line segment joining the points

P(4,2,6) and Q(10,-16,6).

° Watch Video Solution



https://dl.doubtnut.com/l/_eID03YpBBpRP
https://dl.doubtnut.com/l/_9vprVsZ4iSzs

15. A point R with x-co-ordinate 4 lies on the
line segment joining the points P(2,-3,4) and

Q(8,0,10). Find the co-ordinate of the point R.

o Watch Video Solution

16. Find the lenghts of the medians of the

triangle with vertices A(0,0,6), B(0,4,0) and


https://dl.doubtnut.com/l/_9vprVsZ4iSzs
https://dl.doubtnut.com/l/_xJGYscEpgEyM
https://dl.doubtnut.com/l/_PHueMLtsG3EN

C(6,0,0)

-
-

B(0, 4, 0) D C(6, 0. 0)

o Watch Video Solution

17. The centroid of a triangle ABC is at the
point (1,1,1). If the coordinates of A and B are
(3,5,7) and (-1,7,6) respectively, find the

coordinats of the point C.

l ° Watch Video Solution


https://dl.doubtnut.com/l/_PHueMLtsG3EN
https://dl.doubtnut.com/l/_ffNxZbpdOtu2

18.If the origin is the centroid of triangle ABC,
with vertices A(a,1,3), B(-2,b,-5) and C(4,7,c). Find

the values of a,b and c.

° Watch Video Solution



https://dl.doubtnut.com/l/_ffNxZbpdOtu2
https://dl.doubtnut.com/l/_3tQd28d7cSJB

